EAGRAROBREERT — 2 N— ABISH —F

202013280 (k) 2@E4EER1H

m?ﬁ’liﬁ/"?\ﬁB 1 ¥5%R4m L EEDE T
[A&4£] 1 7% :1,000,000 23 :280,000 .~ 33%&:140,000 4 #:100,000 @ . 5 7 :80,000 A
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
.= N BEET :30. -3-3- . — HAEBEE (Fh)
1177 oS4 XINA T — o4 e T 1(%))5 3-3-3-1 38.7 1 <4+718) brvaro
R:ARN—3I>ThR—L B:ehLATYESR NS
= 4 5 | TEE 1:31.3 5-5-4-4 | 39.3| — 4 471 | BAEE ()
2lglg|7E/T> 54.0 (5) (+4) | BEF
LNNVTSY BiuArTrryy | 8405
5 | KIHFA 1:31.6 1-1-1-2 | 40.0| -— 3 495 | EIRIEIRE (EEHR)
3|5/5| 7774 54.0 o) () | EERIE
L IZXKRT—=WoF— BI-LTT Shall Farm
5 — 4 7 | BEE= 1:31.8 8-8-9-7 [39.1| — 2 452 | tEFZ (EH)
41810/ 77%—3 57.0 ) () | _A) Tl
LNMVTSTY BibTLY—TL—X AL
5 S MARAH :31. 02— . — MalE (EME)
5 NPT YT o8 3 1(13/12>9 2-2-2-3 | 40.2 6 :1_930) Pl
L:TITRAFTEIN BHY T THI2R A AR
- JIRE— :31. =77 X = FEHE (BA
6178 Frl)—~NT/N— k 4 9 56,0 (17(279) 6-7-7-6 | 39.2 8 (5556) irbvisnd
R:F—TARTN=— b B:vIs1a— A—ZNT7—L
2 S 4 | AKX 1:32.1 7-6-5-5 |39.6 | — 7 468 | FHEX (EH)
T 2| T AIX—AN * 56.0 ) L3 | @ F-23
L:v07x BA-XIIXAK @l E—
2 ; # 7 | AER 1:32.5 9-8-8-9 |39.8| — 5 466 | RIFER ()
8l1|1|F¥2/h3iAhE ¥¢55.0 2 1/2) (-q) | RREET
L:FHhYRT1X8 BIIXTA—HA ILRRAR 5
t> 6 | AEH 1:33.2 4-4-6-7 |40.9| — 9 486 | =EEZ (EH)
o3| 7FA% 77 6.0 @ Gy | 8 Tz hevay
L:hzrex) BT7LF—UTavT (Lt e
S — :35. -10-10-10] 41.9 | — WO (Fh)
10 4| XTF=TZY— 1 2 (1573{5% 10-10-10-10| 41.9 10 (5_026) s
LBATATv— B:XTY>a—F+vy b HR= WREK%S
® 1 —F—@EBIERL
1T=7r= 5,6,7,3,9,8,2,10,1,4
2a=5F= 5,6,7,3,9,2,8,(1,10) .4
Ja=9= 5,6,7,9,2,3,8,1,10,4
43—+ — 7,5,6,9,2,8, (3,10),1,4
[ N5
B 7 1904 714K 7-9 180M e E 7-8 230 JEE 5-7-9 640M
B B 7 1004 5-7 190H B = 7-9 470 3EE 7-9-5 2,160
9 1004 5-9 330M B H 7-9 590M
0 140

ARICOVWTRDTEEERROODE. TR LI,




